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We do not uproot an enactment of the 3129 on account of a decree

OVERVIEW

Initially when the Xn»92 stated 32 0127 2V W11 72K 7100 and the Xma
understood 77100 to mean A7;7°0 "7 Y DRWOIT 7903, the X7 asked, let us abolish
the mpn. The X3 answered that the 77150 is because of 12 H¥an, to which the
X3 asked again, let us abolish the 7ipn. This time the X3 answered that (since
77027 R7aY 771) therefore 1P X2 7313 onPn 13277 730, Our mdoin discusses
why this answer was not offered the first time the X723 asked 7°7py°1; only the
second time.

mooIn anticipates a difficulty:
- N9 2WNT 919 1) P13 1929 MIPN MIWN XY MIAPYY Hryh 7999 %5

When the X923 asked previously (when we assumed that the 7150 was 377°n), ‘let
us abolish’ the 0°20m nipn, the XM did not answer there as it answers here that
79T PR 31297 7PN, ete. we do not abolish —

mooIn responds:
- ‘a0 oY wap mAapyy 7099 9391 DIVUN

Because previously when the X723 asked, and let us uproot the 1"pn of marrying

72, it meant that the o°»or will establish another day when a 77102 should marry, and

by doing that we would circumvent the 777°1 of A77°n -
= IWINY XY 9NN DY IWAPIWI NT DY DI°2PNY NIN 11951 19N 1195

Since the 013 have no other intention except for having the Jews transgress
their religion, so when the 2°»o1 will establish another day when they should

marry, the 212 will not be concerned, for they accomplished what they set out to do,

namely to disrupt the religion -
= $13P 1NN DY XN DININ 19297 RNIPH NIPYINI XY

" This mooin (as well as the following *X 7"7) should precede 1 7"7 'on.
* See ‘Thinking it over’.
? See also mpy1 "7 v
* This would also (seemingly) require to set up another day when 7' is in session and have them marry the day
before. See however o°123 7an that since there is no 7"°2 the next day (and there can be Xn¥7 *MpR), therefore the
o"a will not mind, for the n"pn was abolished. However it will remind us that there is a need for a ¥12p 01 (because
of 0°71n2 n1yv) and when the 7771 will pass, it will be reestablished.
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And we will gain that the n''pn will not be (completely) abolished since there

will be another established day when to marry-
- 501 1MINA 9792 FAN O 1WA ORY 2P 0 DIY KNP X9 MDY 7599 NN YaN

However here (where the concern is 1123172 %¥an and he is doing it for his pleasure)
when the X3 asked, mapp"», it meant and there should be no other set day to
marry, for if the o°»on will establish another day, the 137 will come and be »°v2

on that new day, since he is only looking for his pleasure -
AP O DIY NN NIY 13397 NIPN 1P NI 19T 5991 53U 1919

So therefore the X7 answers that we cannot abolish a 1''»n because of a 77773
to the extent that there should be no set day to marry.

SUMMARY
The first question of 7°py°1 was that we should establish another date; the second
question of 71™py°1 was to abolish any fixed dates.

THINKING IT OVER

Mmoo asks why did not the X713 respond to the first 7>y that 7773 "apn 11277 73PN
1Py XY, as it did by the second 7 py1.° However there seems to be a major
difference, by the first 7°p¥°1 the 77713 was 277N, therefore to avoid ws1 Mp*, we
certainly should abolish the 713pn; however by the second 7°7p¥°1 where the 77712
was (‘merely’) 2¥an (which is [generally] permitted for *w 01X), the *omn did not
want to be 9w the mpn!’

> In this instance the 177 prefers a ¥12p o1 so he will know when to come (as opposed to on7 v 01°2vi>, where the
entire intent is just to suppress the authority of the o°»31).
% See footnote # 2.
" See X"2v and 9™w 2" on Py A,
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